H & 0l & AHS B Ml A

SN 280
. SEU (eSS /L)
&€t S8 2l (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sad 955,225 939,652 16,573
SEH A (LS 3HE/LBHT) 780,372 761,440 18,932
SEH 2el 216,772 257,840 18,932
S At2te] 12,468 7,700 4,768
201 fer= 3| 12,468 7,700 4,768
02 S3=gHl 12,468 7,700 4,768
OZE =Xl&eld| 2,500,000 *14] 2,500
OYLE| o B RXI22Y)
300,000 +6CH 1,800
OAIR4 LED &85 WAl
176,0002 * 18K 3,168
OXteg = Al 5,000
— A EX 2,000,000 «1CH 2,000
—sga=xt 2,000,000 = 1CH 2,000
—SXAE(HIIR) 1,000,000 *1CH 1,000
2Hetgar 13,280 9,626 3,654
101 21A4H| 8,624 6,022 2,602
04 JIZtN2Z2 XS+ 8,624 6,022 2,602
OdtAgS el=
80,2402 x1H =100 8,024
OotAIg S AU 2E = 600,000& x14] 600
206 MH=HI 3,616 2,564 1,062
01 MZH| 3,616 2,564 1,052
e+ 7Y 6,000 6543l 144
OdtAgS FFU 3,472
—3E= 1,680 *400 £ 672
—EHAH| 3,500 +800 £ 2,800
307 glztol & 1,040 1,040
019z & 3=l 1,040 1,040
OgoZel sl 15,0003 38123 540
O™O AFZAH Eelitl 500,000 1+ 500
2ots FAlZcl 70,200 68,040 2,160
201 fer=3| 70,200 68,040 2,160
02 s3=gHl 70,200 68,040 2,160
OR¢s &=
7,000& %6505+ 12& 54,600
ORots el 60,000 *6505+40/ 100 15,600
SHECCTV KAl2c 2,640 2,640
201 fer23| 2,640 2,640
02 S3=gl 2,640 2,640
Otr=ggE v &8JI2s
5,000 +33CH* 12 1,980
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B ZE0 AR (UNDRHE/UYHE)
el SEY 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olt=gdHE IV RAE+
50,0002 »33CH*40/100 660
~ESES 30,842 34,220 5,622
101 @1A4H| 16,408 21,774 N\6,366
04 JIZtNZ22 XS 2+ 15,408 21,774 26,366
OBDSIY|, WY, IAW FHIY|
IE 80,2403 x5& +x32 +43] 4,815
O=UEIRA(OAY) HetIZ2 =8 &
dd4| 92 80,2402 «3E *32 *43] 2,889
O=ESstA (22, 2T X&) A=Y
80,2403 x3+5 2 *42| 4,815
OJI2Y ZAILLISR 22| 1fY 2,889
—& K 80,2402 x1H*202 %13 1,605
—HEo Xl 80,2403 x2 & x4 2 23] 1,284
201 Ler23| 1,700 1,400 300
01 At2teltl 1,100 800 300
Ol ==cldl 200,000 *2CH*13] 400
OJt2I] A&t S8l St
70,000& %102 700
2 S52g4l 600 600 0
O3 L=
50,000& *6IH 2-%22] 600
206 MH=Hl 12,734 11,046 1,688
01 MZH| 12,734 11,046 1,688
O22d ¥ =3X =827 2,320
—gSoll YH M P
30,0003 x35+32] 270
—gH € Hg 7Y
20,0003 40 L *22] 1,600
— &g+ 2 30,0002 x35+52] 450
O=s&38d 47 78
30,0002 x25+23] 120
OZHlIDl R 1,680 +300 £ 504
OS2HDIZ WFD| 2 2
5,0002 *50H 250
OZAIHLIR A= 2t 2,840
—gSoll YH M P
5,000 *70 XL *42] 1,400
—gH € Hg 7Y
12,0002 60 &L *22] 1,440
OZAMLE 7Y 10,000& x100= 1,000
OH=71 & P (&AIHEl)
5,000 »6000K 3,000
Ot d 24 TEA 2,700
—Si 7Y 3,000& x2g*250H 1,500
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el SEY 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—glH € Hig 7Y
10,0003 *60 £ +23] 1,200
401 AlEHIZ S 0HbI 10,000 10,000
01 AlZH| 10,000 10,000
OF2kzd E 3)| Uo4FMNE 838 Xl
2 2| 2,500,000 *43] 10,000
Sed FEUAXME 29 9,780 8,900 880
201 2= 9,780 8,900 880
01 At22telt] 3,180 2,400 780
O=2UXXIHE 222 2 2
200,000 * 122 2,400
OFUAXIME I iz K=
65,0003 * 12 780
02 S3=gHl 6,600 6,500 100
o882 & HA 6,000
—&JIe= 400,000 123 4,800
—aote, d3, RUEER
100,000& * 12 1,200
OdE & A&l RAE=4I
600,000 %14 600
FEIXR J1eH 3t 128,562 126,714 1,848
204 MNP AH| 3,600 2,400 1,200
2 SELR3H 3,600 2,400 1,200
OM=ggsRd 150,000 x2&* 123 3,600
301 EtE NS 124,962 124,314 648
o7 8801 - HEs243 117,690 117,690 0
oolg=¢ 109,440
—Jl2=¢ 400,0003~ 18~ 122 86,400
—a0= 400, 000 %18 *200% 14,400
—glolE ALY
20,0002 x 18123 +23] 8,640
ogtd=g 50,0002 57 2,850
Oolsd saldl X1d
25,0002 x 122~ 18 5,400
11 AALRHIXIRS 7,272 6.624 648
Oclgsiot E9| S AT g4
9,000 x54& * 122 5,832
OMHRSEAl SE20H 2 & 24|
,0002 «8H 23| 1,440
AR FEEAY 503,600 503,600 0
A FEEHAAIY 503,600 503,600 0
401 Al HIZ S OHbI 503,600 503,600 0
01 A28l 500,000 500,000 0
Ol FEEJAH 500,000
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B SE0 AR (UNDRHE/UYHE)
TP ARD FDITOIALY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—FA4He] B2 ZHISA
150,000 *180m 27,000
—SFa2e] Hi=2 ZUISA
150,000 *180m 27,000
—SFM3R| SZEESA
250,000& *120m 30,000
—2&12 Bi+=2 JHISA
150,000 *180m 27,000
—282c| Ui+ ZUISA
150,000 *180m 27,000
—2832| AMHEHISA
150,000 *180m 27,000
—2842| B2 ZHISA
150,000 *180m 27,000
—UE1C =2 ZUISA
150,000 *180m 27,000
—UE22 =2 ZJHISA
250,000& *100m 25,000
—gtdcl AMEIHISAL
150,000 *180m 27,000
—=&12 =2 ZUISA
150,000 *180m 27,000
—R82%| SSEISA
350,000 *60m 21,000
—=el B2 ZHISA
150,000 *180m 27,000
—L=H2c =2 UISA
150,000 *180m 27,000
—L=X32 B2 ZHISA
150,000 *180m 27,000
—olE12] AMHEHISA
150,000 *180m 27,000
—ot&E2e| =2 FHISA
150,000 *180m 27,000
—0otE32| AHHEHISA
350,000 *60m 21,000
—C2dEs2 2 2 ZHISA
150,000 *100m 15,000
—CZ2H A== A
10,000,000 * 14! 10,000
03 Al 20HHI 3,600 3,600 0
OAAR FCEHAAIE AIE2UH|
3,600,000 14| 3,600
HH2LZH(SEH)(OIEHIIE 174,853 178,212 23,359
el 2E | 65,157 68,458 A3,301
el E2d| 65,157 68,458 A3,301
101 ©1AH| 65,157 68,458 A3,301
01 2= 65,157 68,458 23,301




SN 2E0
M AHH2HAHI(SEHE)(JIEHIIE)
Crel: ol et (ol @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEFEE S,
11,6022« 13 *36Al 2t + 122 65,157
J|1E23l 109,696 109,754 A58
J|1E23H| 109,696 109,754 A58
201 Lt | 45,376 46,754 1,378
01 At 22|l 34,300 36,150 A1,850
O=AEX 7
20,0003 * 142 A% 123 3,360
OS20H4l 8| 9,000 *5A1x 14K« 12& 7,560
Ogiteeg 100,000&*12& 1,200
OLT1E TAFLI 50,000 12& 600
OL7E 4| 7,180
—SAD| =2l 500,000 *1CH 500
—IElED| 22l
100,000 *4CH*50/100 200
—=SAMI EYH 200,000 +53] *1CH 1,000
—Z2IED| EH(EW)
200,000& *53 *4CH 4,000
—TEIEHIIEH(ZH)
200,000& *32*1CH 600
—PC =2l 100,0002 *14CH*20/100 280
—JIEt ==clb| 50,000 *12& 600
OJIEH ARl
10,0003 *14H + 122 1,680
OAIRA )| dXts K=
100,000& x 123 1,200
Oog - =38y 11,520
—24A 60,0003 *1Z 19! 1,140
—=Z& (M) 30,000& *1H +346 10,380
02 2324l 11,076 10,604 472
OoRERZ 150,000&*12& 1,800
OBA 3223 % AA 9,276
—EA #1232 640,002 122 7,680
—F)| Y 442
150,000 *22] 300
— Mot ER3 75,0003+ 12& 900
—SEYSE MER 33,0002+ 12& 3%
202 04d| 45,360 50,400 A5,040
01 =LHO4 L] 45,360 50,400 A5,040
O&LHo Y] 20,0002 *14B x 12+ 123 40,320
O&2lod| 120,000 *14H 3 5,040
203 RF=&Y| 10,160 10,200 A0
01 J| 22 =8| 6,600 6,600 0
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